MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 3 – INCOMPLETE RECORDS

3.1 Single entry accounting is 

(a) The opposite of double entry

(b)Transactions are entered in the first entry only √
(c) A system where the owners can participate

(d) Double entry without credit entries

3.2 The comparison method involves

(a) Calculating Owner’s equity for the current year

(b) Comparing Owner’s equity for the current  and previous year √
(c) Calculating profit using a Statement of Financial performance

(d) None of the above

3.3 The analysis method involves

(a)  Calculating Owner’s equity for the current year

(b) Comparing Owner’s equity for the current  and previous year 

(c) Calculating profit using a Statement of Financial Performance √
(d) None of the above

3.4 An item of plant was purchased on 1 January 2004 for $20000. The financial year ends on 30 June and it was depreciated each year (or part year) at 22% reducing balance. The asset was sold on 31 March 2006 for $11000. How much was the profit or loss on disposal (to the nearest dollar)?

(a) Profit of $593 

(b) Loss of $593 √
(c) Profit of $ 1186

(d) Loss of $ 1186

3.5 Accounts payable had an opening balance of $2200 and a closing balance of $2700.

     Discount was received for $300 and the creditors were paid $7200. Calculate the value

     of the credit purchases

(a) $   7000

(b) $   7700 

(c) $   8000 √
(d) $   9000

3.6 A business produces a gross loss but a net profit. The Statement of Financial Performance must contain

(a) Sales income exceeding the cost of goods sold

(b) A large loss item or items

(c) High expenses

(d) An extraordinary income item or items √
3.7 An accurate provision for doubtful debts is 

(a) To minimise bad debts

(b) To provide an assessment of the amount of money owed to the business √
(c) Considered to be a good tax deduction for the business

(d) A liability in the Statement of Financial Position

3.8 Reconstruction of credit sales is completed in which ledger account?

(a) Accounts payable

(b) Accounts receivable √
(c) Inventories

(d) Sales 

3.9 If the opening balance of Plant and equipment is $23000 and $4400 was sold during the year for a profit of $200 and the closing balance was $28500, what is the cost of new Plant during the year?

(a) $   1100

(b) $   9900 √
(c) $ 10100

(d) $ 11100

3.10 At the start of the year Owner’s equity was valued at $120000. During the year extra capital of $13300 was invested and drawings were $7000. The closing Owner’s equity was $180000. How much was the profit for the year?

(a) $ 41700

(b) $ 53700 √
(e) $ 66300

(f) $ 80300
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